Llace

V\lr'i+inﬂ a 4-diﬁi+ humber in normal form

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

3X1000+7X10+7X1

= 2X1000+9Xx100+6X10+6X1

= 1X1000+2X100+7X10+3X1

= 9X1000+6Xx100+9Xx10+5X1

= 2X1000+3X100+2XxXx10+3X1

= 7X1000+3X100+5Xx10

= 8X1000+8X100+56X10+4X1

= 8X1000+5Xx100+5Xx10+4X1

= 5X1000+6X100+9Xx10+1X1

= 4X1000+3X10+1X1

= 3X1000+1xXx100+9Xx10+1Xx1

= 7X1000+8Xx10+4X1

= 4X1000+6Xx100+3X10+8X1

= 56X1000+6X10

= 9X1000+3Xx10

= 9X1000+3x100+5X10+8X1

= 3X1000+7X1

= 6X1000+2X100+3X10+4X1

= 1X1000+4X100+2X10+1X1

= 6X1000+3Xx10




Place

ANSWER KEYS

1. 3 077
2. 2966
3. 1273

4. 9 695
5. 2323
6. 7 350
7. 8 854
8. 8 554
9. 5691
10. 4 031
11. 3191

12. 7 084
13. 4 638
14. 5060
15. 9 030
16. 9 358
17. 3 007
18. 6 234
19. 1421

20. 6 030
/

3X1000+7X10+7X1

2X1000+9X100+6Xx10+6X1

1X1000+2X100+7Xx10+3X1

9X1000+6X100+9X10+5X1

2X1000+3x100+2X10+3X1

7X 1000 +3X100+5Xx10

8X1000+8Xx100+5xXx10+4X1

8X1000+56X100+5Xx10+4X1

5§X1000+6X100+9X10+1X1

4X1000+3x10+1X1

3X1000+1X100+9x10+1X1

7X1000+8Xx10+4X1

4X1000+6Xx100+3X10+8X1

5X1000+6X10

9X1000 +3Xx10

9X1000+3X100+5Xx10+8X1

3X1000+7Xx1

6X1000+2X100+3X10+4X1

1X1000+4X100+2X10+1X1

6X1000+3X10




Llace

V\lr'i+inﬂ a 4-diﬁi+ humber in normal form

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

4X1000+4XxXx100+4X10

= 9X1000+9xXx100+3X10+7X1

= 9X1000+9Xx10+7X1

= 7X1000+1Xx106X1

= 3X1000+3X100+1x10+3X1

= 1X1000+9Xx10+2X1

= 3X1000+4X100+8x10+1Xx1

= 5X1000+1Xx100+8xXx10+9X1

= 7X1000+1X100+3X10+9X1

= 7X1000+7Xx100+8X1

= 7X1000+9Xx100+3X10

= 4X1000+7Xx1

= 3X1000+7X100+6X10+8X1

= 4X1000+56X100+1Xx10+2X1

= 56X1000+7X100+7X10+3X1

= 6X1000+7Xx100+9X10+9Xx1

= 3X1000+2X100

= 8X1000+1X100+2X10+2X1

= 4X1000+1Xx100+3X1

= 3X1000+7Xx100+5X1




Place

ANSWER KEYS

1. 4 440 = 4X1000+4Xx100+4Xx10

2. 9 937 = 9X1000+9xXx100+3X10+7X1
3. 9 097 = 9X1000+9Xx10+7X1

4. 7 016 = 7X1000+1xXx10+6X1

5. 3 313 = 3X1000+3X100+1x10+3X1
6. 1092 = 1X1000+9Xx10+2X1

7. 3481 = 3X1000+4X100+8x10+1Xx1
8. 5189 = 5X1000+1Xx100+8xXx10+9X1
9. 7 139 = 7X1000+1X100+3X10+9X1
10. 7708 = 7X1000+7Xx100+8X1

11. 7 930 = 7X1000+9Xx100+3X10

12. 4 007 = 4X1000+7Xx1

13. 3768 = 3X1000+7X100+6X10+8X1
14. 4 512 = 4X1000+56X100+1Xx10+2X1
15. 5773 = 56X1000+7X100+7X10+3X1
16. 6 799 = 6X1000+7Xx100+9X10+9Xx1
17. 3 200 = 3X1000+2X100

18. 8 122 = 8X1000+1X100+2X10+2X1
19. 4103 = 4X1000+1Xx100+3X1

20. 3705 = 3X1000+7Xx100+5X1




Llace

V\Iri’rinﬂ a5 -diﬂiJr humber in hormal form

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

4X10000+9Xx1000+9Xx100+7X10+3X1

= 4X10000+9XxXx1000+3Xx1

= 4X10000+3X1000+9xXx100+1X10+1X1

= 7X10000+7X100+6X10+3X1

= 1X10000+3X1000+56X100+7X10+7X1

= 4X10000+1X100+1X10+7X1

= 9X10000+8Xx1000+8X100+3Xx10

= 2X10000+1X1000+9Xx100+9X10+8X1

= 7X10000+4Xx1000+3X100+4X10+5X1

= 9X10000+7X100+5X10+7X1

= 3X10000+6X100+1xXx10+7X1

= 7X10000+8Xx100+2X10+3X1

= 6X10000+3X1000+8x100+4X10+3X1

= 7X10000+2X1000+1xXx100+1X10+7X1

= 9X10000+2X100

= 9X10000+2X100+3xXx10+5X1

= 4X10000+4X1000+4Xx100+7X10+1X1

= 9X10000+9Xx1000+3Xx100+3X1

= 9X10000+9Xx100+7X10+5X1

= 7X10000+1Xx100+6X10+7X1




Place

ANSWER KEYS

1. 49 973
2. 49 003
3. 43 911
4. 70 763
5. 13 577
6. 40 117
7. 98 830
8. 21998
9. 74 345
10. 90 757
11. 30 617
12. 70 823
13. 63 843
14. 72 117
15. 90 200
16. 90 235
17. 44 471
18. 99 303
19. 90 975
20. 70 167
/

4X10000+9Xx1000+9Xx100+7X10+3X1

4X10000+9XxXx1000+3Xx1

4X10000+3X1000+9Xx100+1X10+1X1

7X10000+7X100+6X10+3X1

1X10000+3xXx1000+5Xx100+7X10+7X1

4X10000+1Xx100+1X10+7X1

9X10000 +8XxXx1000+8Xx100+3X10

2X10000+1Xx1000+9X100+9Xx10+8Xx1

7X10000+4X1000+3X100+4X10+56X1

9X10000+7X100+5Xx10+7X1

3X10000+6Xx100+1X10+7X1

7X10000+8X100+2xXx10+3X1

6 X10000+3XxXx1000+8X100+4xXx10+3X1

7X10000+2X1000+1xXx100+1X10+7X1

9X10000 +2X100

9X10000+2X100+3xXx10+5X1

4X10000+4X1000+4xXx100+7X10+1X1

9X10000+9XxXx1000+3x100+3X1

9X10000+9X100+7X10+56X1

7X10000+1X100+6X10+7X1




Llace

V\Iri’rinﬂ a5 -diﬂiJr humber in hormal form

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

8X10000+7X100+9xXx10+9Xx1

= 4X10000+3X1000+1x10+1X1

= 8X10000+2Xx1000+4Xx100+9X10+7X1

= 5X10000+3Xx1000+3Xx1

= 6X10000+6Xx1000+1X100+4X1

= 8X10000+9X1000+9X100+56X10+5X1

= 4X10000+3X1000+2X100+3Xx10

= 6X10000+7Xx1000+9Xx100+1xXx10+3X1

= 3X10000+4XxXx1000+4X100+3xXx10+2X1

= 9X10000+6Xx100+6X10+1X1

= 6X10000+5X1000+3Xx100+1X10+8X1

= 3X10000+8Xx1000+1xXx100+1X10+7X1

= 9X10000+9Xx1000+3xXx100+7X10+6X1

= 6X10000+2X1000+6Xx100+3X10+1X1

= 6X10000+1Xx1000+6X100+3X1

= 1X10000+6Xx1000+3xXx100+2X10+3X1

= 7X10000+3X1000+5656X100+4xXx10+2X1

= 4X10000+9Xx1000+5Xx100+4X10

= 6X10000+3X1000+9Xx100+6X10

= 9X10000+2X100+8X10+2X1




Place

ANSWER KEYS

1. 80 799
2. 43 011
3. 82 497
4. 53 003
5. 66 104
6. 89 955
7. 43 230
8. 67 913
9. 34 432
10. 90 661
11. 65 318
12. 38 117
13. 99 376
14. 62 631
15. 61 603
16. 16 323
17. 73 542
18. 49 540
19. 63 960
20. 90 282
/

8X10000+7X100+9Xx10+9Xx1

4X10000+3X1000+1x10+1X1

8§ X10000+2Xx1000+4X100+9Xx10+7X1

5X10000+3x1000+3Xx1

6 X10000+6X1000+1X100+4X1

8 X10000+9X1000+9Xx100+5X10+56X1

4X10000+3X1000+2X100+3Xx10

6 X10000+7X1000+9X100+1Xx10+3X1

3 X10000+4XxXx1000+4X100+3xXx10+2X1

9X10000+6Xx100+6X10+1X1

6 X10000+5Xx1000+3X100+1xXx10+8X1

3X10000+8Xx1000+1X100+1Xx10+7X1

9X10000+9X1000+3Xx100+7X10+6X1

6 X10000+2X1000+6X100+3xXx10+1X1

6 X10000+1X1000+6X100+3Xx1

1X10000+6X1000+3X100+2Xx10+3X1

7X10000+3X1000+5X100+4xXx10+2X1

4X10000+9Xx1000+5Xx100+4X10

6 X10000 +3X1000+9Xx100+6X10

9X10000+2X100+8x10+2X1




V\lr'i+ina a Q—digiJr humber in hormal form

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

8 X100000 +9X10000+9X1000+1xXx100+2X10+3X1

= 3X100000+8X1000+8x100+9X10+1X1

= 7X100000+1X10000+1X1000+4XxXx100+3X1

= 7X100000+7X10000+5X1000+ 3X100+1xXx10+3X1

= 5X100000+3xXx10000+2Xx1000+9X10+3X1

= 2X100000+9X10+7Xx1

= 7X100000+1X10000+1X1000+2X100+7X10+7X1

= 3X100000+4xXx10000+8X1000+3X100+6X10+56X1

= 7X100000+5X10000+8x1000+7X10+7X1

= 5X100000+4XxXx10000+9X1000+3X100+1Xx10+7X1

= 7X100000+3X10000+9X1000+8x100+1X10+5X1

= 4X100000+1X10000+8Xx100+3Xx1

= 9X100000+7X10000+2X1000+9Xx100+4X10+1X1

= 2X200000+2Xx100+3X10+3Xx1

= 8X100000 +6Xx10000+4XxXx1000+4Xx100+2X10

= 2X100000+9X10000+5Xx1000+5X100+3Xx10+6X1

= 3X100000+9Xx1000+3X100+6Xx10+1Xx1

= 9X100000+6X10000+4Xx100+7X100+1X10+6X1

= 1X100000+2X10000+3X1000+56X10+4X1

= 6X100000+3X10000+1X1000+3X100+5Xx10




Place

ANSWER KEYS

1. 899 123
2. 308 891
3. 711 403
4. 775 313
5. 532 093
6. 200 097
7. 711 277
8. 348 365
9. 758 077
10. 549 317
11. 739815
12. 401803
13. 972941
14. 200 233
156. 864 420
16. 295536
17. 309 361
18. 964 716
19. 123 054
20. 631350
/

8 X100000 +9X10000+9X1000+1xXx100+2X10+3X1

3 X100000+8XxXx1000+8X100+9XxXx10+1X1

7X 100000 +1X10000+1Xx1000+4X100+3Xx1

7X 100000 +7X10000+5Xx1000+ 3X100+1xXx10+3X1

5X100000 +3Xx10000+2Xx1000+9X10+3X1

2X100000+9Xx10+7X1

7X 100000 +1Xx10000+1X1000+2X100+7X10+7X1

3 X100000 +4xXx10000+8XxXx1000+3Xx100+6X10+5X1

7X100000 +5X10000+8XxXx1000+7X10+7X1

5X100000 +4xXx10000+9Xx1000+3X100+1x10+7X1

7X100000+ 3 Xx10000+9X1000+8X100+1Xx10+56X1

4X100000+1X10000+8x100+3X1

9X100000 +7X10000+2X1000+9xXx100+4X10+1X1

2xXx200000+2X100+3x10+3Xx1

8 X 100000 + 6 X10000 +4X1000+4X100+2X10

2X100000 +9Xx10000+5xXx1000+5Xx100+3X10+6X1

3X100000+9Xx1000+3Xx100+6X10+1X1

9X100000+6X10000+4X100+7X100+1X10+6X1

1X100000 +2X10000+3X1000+56X10+4X1

6 X100000 +3xXx10000+1xXx1000+3Xx100+5X10




Llace

V\lr'i+inﬂ a Q—digiJr humber in nhormal form

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

4X100000+8Xx100+7X1

3 X100000 +3X10000+9xXx100+6X10+6X1

3 X100000 +1xXx10000 +3XxXx1000+9X100+7X10

7X 100000 +9X10000+6X10+6X1

1X100000 +5XxXx10000 +6Xx1000+4Xx100+4X1

9X100000+4X10000+5Xx1000+3X100+2Xx10+3X1

6 X 100000 +5XxXx10000+5Xx100+1X10+56X1

5X100000 + 3 xXx10000 +1x1000

7X100000 +2X10000+2X1000+2X100+56X10+5X1

8 X100000+1Xx10000+1X100+56X10+5X1

9X100000+8X100+4Xx10

1X100000 +3xXx10000+5X1000+9Xx100+3X10+7X1

1X100000+3XxXx1000+3xXx100+9X10+2X1

2X100000 +7X10000+4xXx100+6X1

5X100000 +7xXx10000+3xXx1000+9X100+9Xx10+9X1

5X100000+2Xx1000+9X100+6X10+7X1

3 X100000 +6X10000+7Xx100+8Xx10+4X1

5X100000+1x1000+9X10+3Xx1

5X100000 +3xXx10000 +1xXx1000+5Xx10

4X100000+6X100+2Xx10+1X1




Place

ANSWER KEYS

1. 400 807
2. 330 966
3. 313 970

4. 790 066
5. 1566 404
6. 945 323

7. 650 515

8. 531000
9. 722 255

10. 810 155

11. 900 840
12. 135937

13. 103 392
14. 270406
15. 773 999

16. 502967
17. 360784
18. 501093
19. 531050
20. 400621
/

4X100000+8Xx100+7X1

3 X100000 +3X10000+9xXx100+6X10+6X1

3 X100000 +1xXx10000 +3XxXx1000+9X100+7X10

7X 100000 +9X10000+6X10+6X1

1X100000 +5XxXx10000 +6Xx1000+4Xx100+4X1

9X100000+4X10000+5Xx1000+3X100+2Xx10+3X1

6 X 100000 +5XxXx10000+5Xx100+1X10+56X1

5X100000 + 3 xXx10000 +1x1000

7X100000 +2X10000+2X1000+2X100+56X10+5X1

8 X100000+1Xx10000+1X100+56X10+5X1

9X100000+8X100+4Xx10

1X100000 +3xXx10000+5X1000+9Xx100+3X10+7X1

1X100000+3XxXx1000+3xXx100+9X10+2X1

2X100000 +7X10000+4xXx100+6X1

5X100000 +7xXx10000+3xXx1000+9X100+9Xx10+9X1

5X100000+2Xx1000+9X100+6X10+7X1

3 X100000 +6X10000+7Xx100+8Xx10+4X1

5X100000+1x1000+9X10+3Xx1

5X100000 +3xXx10000 +1xXx1000+5Xx10

4X100000+6X100+2Xx10+1X1




